err EREETF PR Y]

East Dragon Precise Transmission Co., LTD

GEB SO LA SSME]

KEYLESS TIMING PULLEYS < S5M >

TVEE | #E |SERmE R | SR | S [ anm
iﬂ‘rf{'J[F,‘]l : PLD-0.450 HLoh | MGOEL | | SHC | BE
EL&sS | AADA] AL EiE f)
ELAH | ARDG1 . B45C | BEE R
ELAHA | ARDGI AL iERE R
ELAD | ARDA1 450 | fESE R
ELADA | ARDGL i Al |BEpE| sac | BB
ELED 2wl HE S50 BE k=S
W’ﬁ'?ﬁ%ﬁ'{ Kz | s | e | sec | @ g
ELEN 2wl B8 S50 ] gt
EL3C B45C Hita) 2450 it fEE
EL:ZH BN | ETEAR | B45C SR RRAR AR
KLSg | 318305 | EEE AL ERiE | 2TURa0G | |ER
Catalog No.
Hia=@
Type 55 f{J?“.”[T | iﬁj ﬁﬁ B g% dh7 P.D 0.D F E
22 8 35.01 34.05 40 27
KI%AAAAA 24 S5MO012 8¢ 10 38.2 37.24 45 30
25 A:12 810 39.79 38.83
kLAH 26 |W:17 3~12 41.38 40.42 43 35
KLAHA T g 8~12 44.56 43.6
kLAD 30 |S5MO17 10~15 4775 46.79 52 36
KLADA 32 A:17 E 10~17 50.93 49.97 55 40
KLSD 34 W:22 10~17 54.11 53.15 61 45
KLSZ 36 10~17 57.3 56.34
KLSN 40 S5MO027 10~17 63.66 62.7 67 50
KLSC 44 A7 12~25 70.03 69.07 74 58
KLSH 48 W:32 12~28 76.39 7543 83 63
KLSS 50 12~32 79.58 78.62 87 67
60 12~40 95.49 94.53 99 80
TYPE — Catalog Ho. —  EFLAESIT
Order
BT E{CRR KELaAA — 3655M017E — 10

afl AR RLISMSHIIT - SRESEA -

SE) ¢ A L] SRS NS F o
F2 | Fisas 1T 3



err EREEF PR L>5]

East Dragon Precise Transmission Co., LTD

R

L 3 pcs tight fixed type 4 pcs tight fixed type 6 pcs tight fixed type
d dimension is 10~12 d dimension is 8,14~25 d dimension is 28~50

Material: S45C

Ll N e N e I S S I I
d Jgp| N | 23747 | N-mikef - m) | EikN{kef} |N - m{kef - m}
8 4 M3x12 M3x2 16{ 1.6} 4.0 { 408} 2.0{0.21} 25.5 19 10 3.3 15.5 4
10 39{ 4.0} 30 22 12
11 3 M4x16 43{ 4.4} 31 23 13 16.5 5
12 48{ 4.9} 32 24 14
14 M4x2 73{ 7.4} 5.34 {545} 4.0{041} 35 27 16.6 4.5 ” 6
15 Mix18 78{ 7.95} 36 28 17.6
16 83{ 8.5} 37 29 18.6
17 88{ 9.0} 38 30 19.6
18 4 154{ 15.7} 43 33 20.6
19 163{ 16.6} 45 35 22.4 23 7
20 M5x20 171{ 17.4} 46 36 23.4
22 186{ 19.16} 48 38 24.6
24 206{ 21.0} 50 40 26.6
s M5x2 216{21.8) 8.74 { 895} 8.3 {0.85} = 1 8.4 5.5
28 353{ 36.0} 54 44 30.6 4 g
30 M5525 382{ 39.0} 57 47 334
32 412{ 42.0} 59 49 34.7 25 9
35 451{ 46.0} 63 53 38.4 26.5
38 6 686{ 70.0} 70 58 42 28 10
40) M6x28 M6x2 725¢ 74.0} 12.3 { 1260} 13.7{ 14} 71 59 43.5 6.6 30.5
42 757 77.2} 74 62 46 31.5 11
45 1490{ 152.0} 84 69 49.5
48 MB8x35 M8x2 1600{ 163.0} 22.7 {2320} 343 {35} 87 72 52.5 8.8 38.5 13
50 1660{ 169.0} 89 74 54.5

AGED SRR R
j\ ﬁéﬁﬂ‘@l"\“&%f;‘« 2l JI:I , IEiEI Fl JgF{@ 7 %A 3‘
Efﬂﬁ_{fé AR T IR -

AU

1 A R RS e O BT 2 s TR - R A S (A R TR
2 [RRAT [ EESER T R -

3%55’%@““3%%%%% L s A T o
4 REBEE [T LT SR U BRI S

5 4 ﬁé%f’*}u’ﬁﬁ"‘ﬁﬁ‘»%ﬁg o

6 BRI PRI 4 [ 2 s -

AET AU
I RS (EERe - 56 2 IR ™ P e

%%@ﬂ [s,fgﬂglm IF ORAREE T o TR P g T IR PSSR 2 S L



